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NO K& PRI | THET®R |RETEERE(m)| kB
1 |[BE BE B | FER 219.3 A1
2 |#E IEF 8 | KiER 205.9 19
3 |BAR X B | FER 196.3 37
4 |EA #HBIE 5 | KEM 174.2 16
5 [BA B B | mEhith 166.5 19
6 [T MEE = | FEHm 144.2 24
7 |RH M B | FER 1435 19
8 |E@ #F B | K¥EH 142.3 15
9 |EH 2B B | FER 109.4 21
10 |8 EX 5 | KEM 107.7 9
11 | FET X | KEH 107.6 8
12 /I Bz 5 | KER 104.2 34
13 [/hE = B | FER 101.7 10
14 |FhHE @3 5 | KER 101.6 38
15 |8 R& B | FER 98.5 13
16 |/MR BT 5 | {@aIh 89.8 8
17 |hff R B | FER 88.5 9
18 [l AR FEAE 5 | KEM 88.2 17
19 (18T B B | FER 85.9 40
20 |KBH &k 5 | EERH 84.8 7
21 |BA RiEEF = | FKiEH 82.9 10
22 |BEAR IEsE B | KiEH 80.9 8
23 |EH #Hb&X = | FKiEH 80.5 9
24 |WE EF x| FFEH 79.0 11
25 |K#E BxX 5B | K¥EH 78.8 20
26 |imH KFE 5 | FEM 78.5 22
27 |#hE R B | FER 78.3 13
28 |NK JER] 5 | FER 76.4 9
29 |EH FHE X | KEH 75.9 9
30 |HE = 5 | KER 75.7 21
31 |MWFE FF x| KEH 75.6 7
32 |¥%ER Bz 5 | KER 75.4 18
33 | EFX 5 | KEM 74.8 8
34 |HEQ H35h 5 | KER 74.7 15
35 |hF E x| KEH 74.5 12
36 |EHH (&% 5 | KER 74.3 23
37 |BRE E=F x| FEE™H 73.1 7
38 |IBEXK &5 B | ERh 73.0 9
39 |=Lk 5 | KEM 72.5 24
40 |#BxR [l B | FER 71.8 10




